(b) What percentage of 180 is 357 @

(c¢) In Tascas superstore a television is for sale at £500 including VAT. In Meteors superstore the
same television is for sale at £430 plus VAT at 17% %. Which superstore has the cheaper
selling price and by how much?
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(a) Calculate 26% of £34. @
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(b) What is 78% of 9-5? @
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(b)  What is 55% of 647 =
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(a) A carpenter makes a piece of furniture for £280 and sells it at a profit of 35%.
What is the selling price?

(b)  What percentage of £250 is £55?
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(b) Find 36% of 49. S

(c) Chris has £600 to spend.
He spends i of his £600 on a DVD player and % of the £600 on a bicycle.
What fraction of his £600 has he got left?
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£26 £30

plus including @
VAT at 175 % VAT
N o LN s

Which price offer is the cheaper and by how much?
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13. (a) The population of a country increased from 56 000 000 to 59 500 000. What percentage
increase is this?

(b)  What will be the amount if £5000 is invested for 3 years at the rate of 4% compound
interest per annum?
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15. Find the compound interest, to the nearest penny, when £4000 is invested for 3 years at 4% per
annum.

...................................................................................................................................................................................................................................
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14. Tony invests £3000 for 3 years at 4% per annum compound interest. How much money is in the
account after 3 years?
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14. Find, to the nearest penny, the compound interest when £2000 is invested at 6% per annum for
3 years.
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(b) What will be the amount if £5000 is invested for 3 years at the rate of 4% compound
interest per annum?


Rob Davies
Note
From Paper 2 2002

Rob Davies
Note
From Paper 2 2002


14. On April 1st Marcus owed £250 on his credit card account.

The credit card company requires Marcus to pay at least 10% of the balance on the 20th of each
month.

The company charges interest at 2% on what the balance is on the 28th of every month.
Marcus pays the minimum payment on time every month.
Write down full details of his account up to May 31st.

e AP LS e £25000
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16. The bill for repairing a car came to £418.30 inclusive of V.A.T. at 17]5 %. What was the cost of the
repair before V.A.T. was added? @
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